54 2 ml4 l*“?&%LL%k AR ER S
e AMSEEILIDREFREEROMZER L RAEHKR

m

i3 SMEFE10H28H (£) . 298 (H)
L2 XU LUEARALy VRBERAE AR Z—FE

. B E BikiN7X53 34 1F—A Bis: A ) %%Uwﬁ:%%
1R T2 FZH8H. B2 45 THEMT 18 TiEEE
(FALEI B 72 L)
2 KTk KHAF, 1RTEEDOKREF 3 65T L6 KA
R KHAH, FH1 2HO 6K Y — 7 CIEAL R E
(OFHR O @EBERHROBRIC L D)
(PN %53 FA—® T8 i Bl 6 Ll Lisis
s %E4%Tfﬁ+12%@M$iMﬁ%mmy%ﬁ
il BRIRF [ S 54308 HE 6433 0F
EEER Yy %%®%§£%w 1&%@1@%%T% 2 1L T 1%
RV — 7 OB SER, ) —ZEFC 2 H

C®EOK E[E R MR Tl b45 112

A Bkibs24
1R TPEFER (2 45)

B 2221 20( 19| 18| 17|16 15| 14| 131211101 9| 8| 7|6 |5 | 4 | 3LLF |awt

BF 1

[\
—
—
[\
S
S
— | po
S
—
(@21
wW
~

7T 1

—_
—_
[\
w
ol
(0]
—
o1
w
ol

B 1R TIEE R

2R TEEER (3 645

A |32]31]30]29|28(27(26]|25]24]23|22[21|20|19]|18]|17| 16|15 14| 13]&#t
BT 1 1 1 312 2 1 11
LS 1 1 L{2)2]2]1]1 11
5 2 T iEEIE BF 364 18HLLE 6&LL
Zf 364 19%LE 6/&HE
B DB w1 D

w4 1R | 2, [¥EEH ® 4 1k | 2% [¥EEE

A B JII 20 10 30 || A& JII| 18 8 26

B it 15 10 25 |[B|F B8 F %| 15 8 23
Cl|¥% ® I ¥ 15 8 23 | ¢ |#n H| 14 7 21
D|F A& T ¥| 13 6 19 || D5 # HF | 12 8 20

E [& E| 11 8 19 || E|F 11 9 20
Flih @ o o 14 5 19 | F[F w12 7 19:
i H 12 6 18 P 13 6 19:

J& | 12 6 18 o o T 11 7 18
Broom Bl 11 5 16 #romM B 13 5 18

{rs (] 11 5 16 5 Fl 11 6 17
Mo L ¥l 11 3 14 B mE| 12 4 16




7. R ) — TR

& ? T P T AT
BT N I A LN
JI| % % L BN R a b
& JI dD ‘B ‘m) C) () 5148] 1
* 3 8 | 6 2 [33] 4
SR IS | I 6,3 0 C) () 3139] 3
Tk T o¥ 9 lC’ ﬂD Clgqa 443] 2
i 416178 BEE
[ITRR SRS ) 5 4 7 0 027 6
& T 1 ? ¥ N BRI
KT O Eij if £, EE
JI| % Fis s il il DA k4 KA
H ) () (:) 7 ﬂD ‘D 4 41] 2
T B H % b5 () 3 (:% C’ 3 27| 3
i H# 5 5 6 5) 3 o246
FOE o %(:) ﬂD () CD () 5(47( 1
g w2 by () 0 1 |1/20]5
T N IS 0 () 4 () 2 [26] 4
8. EABH
T
HY 8 7 6 i
BT 1 5 9 15
- 4 5 9
L RN
Iiific T | W |RAE
1 a3 B (&) 8 3 11 |OOO0000O
2| B G (1 1 g 7 4 11 |OO000OX
[LLE 2 4 2 [EE R ]
s| xmsr (Ferp | 7 | s | 10 [mEs
AP
Iiific T | W |RAEE
1| & =<5 (&) 6 4 10 |[O00O
2| A&HE (f&Lipg 1) 7 3 10 |OOX
(DL E 2 442 sk R s ]
3| xmm A @ | 7 | 3 | 10 [x




9. KREkER
[ {4

BifZS

fE A

fEA

LA D

B+ DEB

LD

R
8

T

A
A
A

= W N
.

&

2 fir
3L
4fir

W
F

s
2 fir

3L

s
2L

3L

PSR i

A2 )
% R

ET\‘H-
HH
e
g
4&?
4
»

£ B (&)

BErp R (H A )
(LUt 2 4 R )
KRB Bl (FAaT3)

& =<6 (F))

ARM (T8 1LipE 1)
(Lh b2 4 EERERE N S)
KWl #a &I



